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/“(\ Linearized knot diagam

Solving Sequence

sl s, s s s — | —s | — | —
= B i A S B
Q\J 9 5 10 7 2 8 5 1 2 4

1 R — — 2 e R —_ R — c3,C5, C

A knot dlagranﬂ 8 s 9 1 D s 3 o 7 04 4 o 6 o 10 —>> €3,C5,Cy

Ideals for irreducible component#ﬂ)f Xpar

I = (—876201u*" — 2322990u° + - - - 4 4026049b + 4761515,
2437160u>! + 3033235u° + - - - 4 4026049a — 11137406, u?? + 2u*! + - — 5u + 1)
=®b+1,a—u—1, v +u—1)

* 2 irreducible components of dim¢ = 0, with total 24 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I = (—8.76 x 10°u?' —

10u21 +3.03 X 10420 + - - - 4+4.03 X 108a —1.11 x 107,

(i) Arc colorings

(+)

ayp =

= (o)

o= ()

o= (L)
—0.605348u2! — 0.753402u20 + -

as =\ 0.217633u2?! + 0.576990u2° + -
—0.411423u2t — 1.40224u2° + .

a3 = \ —0.245107u2! 4+ 0.32551002° + -
—0.796242u2! — 1.56338u20 + -

a7 = \0.129468u?! 4+ 0.692040u20 + -
0.400579u2 + 1.80305u2° + -

as = | 0.823670u2! + 0.23010012° + -
—0.666774u2! — 0.871340u20 + -

as = \ 0.129468u2' + 0.692040u2" + -
—uZ+1

a0 = \ —ut + 22

(ii) Obstruction class = —1

_ 18273594, 21 _

33446853 20 + .

I.

2.32 X 105120 4 ... +4.03 x 10%b + 4.76 x 108, 2.44 x

u?? 4+ 2u?l ... —5u+1)

-+ 2.33325u + 2.76634
-+ 0.524775u — 1.18268

— 0.181636w + 1.11034
-+ 2.34715u — 0.644858

c41.14222u + 4.11733)

-+ 0.900899u — 1.26929

-+ 4.09317u — 2.11533
— 4.24775u + 0.826769

-+ 2.04312u + 2.84804
-4 0.900899u — 1.26929

47627074 9739867

(iii) Cusp Shapes = — 000

4026049

"+ 2026029 ¥ ~ 1026049



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs, Co w2 —2uP . 4 Bu+1
Co2,C5 w2+ 3+ 4+ 28u+4
c3,C10 u? 42t o fu+1
Cq4,C7 w2 -3+ 120+ 1
Co u?? 4+ 9u? £ 1200+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs, Cy v =18y =9y 41
2,5 y*2 —15y%' + ... — 264y + 16
€3, C10 y22—6y21+-~-—9y+1
C4,C7 y?2 — 9yt + ... — 120y + 1
€6 y?? 4+ 11y 4 — 12776y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

uw=0.137382 + 0.9800521
a = —0.517949 — 1.1784001

b= 1.042580 + 0.7342891

3.27405 — 6.325401

—5.56731 + 5.289951

uw=0.137382 — 0.9800521
a = —0.517949 + 1.1784001
b= 1.042580 — 0.7342891

3.27405 4 6.325401

—5.56731 — 5.289951

uw=1.080880 + 0.1069381
a = —0.42141 4 2.530281
b= —-0.911911 — 0.1689841

—3.24923 — 0.585351

—11.5610 — 9.13421

uw = 1.080880 — 0.1069381
a = —0.42141 — 2.530281
b= —-0.911911 + 0.1689841

—3.24923 + 0.585351

—11.5610 4 9.13421

u = —0.123407 + 0.8539581
0.00757 + 1.424961
b= 0.669484 — 0.8748431

4.43145 — 0.354681

—3.17978 — 0.185621

u = —0.123407 — 0.8539581
a= 0.00757 — 1.424961
b= 0.669484 + 0.8748431

4.43145 4 0.354681

—3.17978 + 0.185621

u = —1.207460 + 0.1703951
a = —0.225304 — 1.0324901
b = —1.044530 + 0.8600491

—4.60553 + 3.494231

—13.3144 — 6.32961

u = —1.207460 — 0.1703951
a = —0.225304 + 1.0324901
b = —1.044530 — 0.8600491

—4.60553 — 3.494231

—13.3144 + 6.32961

u = —1.22419

a = —0.613520 —6.34803 —16.5000
b= —1.60485
u= 0.736463

a= 0.700417 —1.10354 —8.74830
b= 0.0940544




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —1.195650 + 0.4113811
—0.358621 — 0.4784441
0.384535 + 1.1271301

1.13790 + 4.898281

—6.90240 — 4.826361

—1.195650 — 0.4113811
= —0.358621 + 0.4784441
0.384535 — 1.1271301

1.13790 — 4.898281

—6.90240 + 4.826361

1.154470 4 0.5620231
= —0.253567 + 0.0373841
0.770295 — 0.6372841

0.148418 + 0.9124001

—7.06168 — 2.227391

1.154470 — 0.5620231
—0.253567 — 0.0373841
0.770295 + 0.6372841

0.148418 — 0.9124007

—7.06168 + 2.227391

1.38990 + 0.378701
0.880502 — 0.9166871
0.934548 + 0.6393491

—0.37121 — 4.089881

—7.66142 4 3.874991

1.38990 — 0.378701
0.880502 + 0.9166871
0.934548 — 0.6393491

—0.37121 + 4.089881

—7.66142 — 3.874991

—1.38743 + 0.451711
0.618352 + 1.2127201
1.23888 — 0.717371

—1.50863 + 11.442701

—9.41507 — 7.022581

—1.38743 — 0.451711
0.618352 — 1.2127201
1.23888 + 0.717371

—1.50863 — 11.442701

—9.41507 + 7.022581

0.096382 + 0.4034211
2.25348 +0.772271
—0.685093 — 0.3931261

—0.85664 — 1.356931

—6.38441 + 4.835891

0.096382 — 0.4034211
= 2.25348 — 0.772271
= —0.685093 + 0.3931261

>~ Q@ €| Q@ €|l & €| & €| Q& 8|l & 8| & 8|l & 8|l & 8| o &g
|

—0.85664 + 1.356931

—6.38441 — 4.835891




Solutions to I}

V=1(vol + v/=1C5)

Cusp shape

= —1.66272

0.642487
0.825081

—10.1504

0.707930

U
a
b
U
a
b

0.260308
3.30452

= —1.11185

—2.22827

0.635130




ILIy=((bd+1,a—u—-1, u +u—1)

(i) Arc colorings
o= (1)
-
o=
o= (L
o= (")
o=
o
(
(

ayq =

(ii) Obstruction class =1

(iii) Cusp Shapes = —21



(iv) u-Polynomials at the component

rossings u-Polynomials at each crossin,
C Poly Is at h
c1,C3 w—u—1
Co, Cs u2
2
Cy4,Cp (u — 1)
cr 1)?
(u+1)
2
€8, €9, C10 u+u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cg y2_3y+1
Cg, C10
¢2,C5 y?
2
C4,Cq, C7 (y_l)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

0.618034
= 1.61803 —2.63189 —21.0000

—1.61803

= —0.618034 —10.5276 —21.0000

U
a
b = —1.00000
U
a
b = —1.00000
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u? —u—1)(u*? —2u* + -+ 5u+1)
€, C5 w?(u?? + 3u* + -+ 28u + 4)
s (w? —u— D2 +2u* +- +u+1)
¢4 (u— 1) (Wu* = 3u* + - —12u+1)
C6 (v — 1)) (u* 4+ 9u?' 4+ -+ +120u + 1)
7 (u+ 1)) (W* = 3u* + - —12u+1)
s, Co (u? +u—1)(u?? =20+ 4 5u+1)
10 (w? +u— D2 +2u* +- Fu+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1, s, Cy (> =3y +1)(y*2 —18y* 4+ =9y + 1)
¢, C5 y?(y?% — 15y* + - — 264y + 16)
€3, €10 (> =3y +1)(*2 —6y* +--- =9y + 1)
ca,¢7 (y =D = 9> + - — 120y + 1)
((y = 1)) (2 + 11y2 + - — 12776y + 1)
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